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Use the graph to answer the questions below.
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Part A. Explain how the triangle ABC and triangle CDE relate to each other. 
 
Part B. What is the slope of the line given in the graph? Explain how each triangle’s side lengths relate to the slope of the line.
 
Use words, numbers, and/or pictures to show your work.
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How many solutions does the equation shown have?

1 1
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What values of @ and b would make the equation shown have Infiitely many
solutions?

sx=arth

What values of @ 3nd b, In the equation shown, wil resultn an equation whose only
solution s x = 37
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Solve the equation shovn for .

-4 =4x+3x46
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Explain why 3(x + 4) = 3(x —5) has no solution. Choose the best response below.

A, The x-terms are the same, but the constant terms are dfferent.
8. The x-terms are diferent, bt the constant ters are the same.
C. The x-terms arethe same, and the constant terms are same.

. The x-terms are different, and the constant terms are diffrent.

Enter values of @ and b for which x = 4 5. solution of the equation shown.

ax+4=Sc4 b
a=C1
D —

Select whether each equatin has no soltion, one solution, of Infinitely many solatons.
No salution One solution _Infinitely many solutions
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ramaxes 0 C r
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The graph of a proportional relationship is shown.

Money

Total Savings (S)

o 3 4 & & 1
Number of Weeks

What is the amount of savings per week?

The graph of a proportional relationship and an equation are shown.
y

07020406 05 10 12 14

What is the greater unit rate?
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Give 2 third point that Is aiso on

this Iine.

pointe are given
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Select all pairs of triangles that can be used to show the slope of a line is the same
anywhere along the line.
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